Challenge

T Determining Distributive Property Name:
Rewnte the expression using the distributive property of multiplication Answers
D 6x (53 xm(Bxb) . Zedig M (Ba0)
Distribiitive Property Answer ] T
2) 5 x (9,+5) 2.
Distributive Property Answer
Zb.
3) 4 x (5¢5) 3a.
5’)d‘ Distributive Property Answer
3b.
4 2% (7 i 4) - 4a,
? Distributive Property Answer
4b.
5) §x (S’Yﬁ- 7) 3a.
Distributive Property Answer
3b.
6) 2 x (gaj— 2) e 6a,
Distributive Property Answer
6b.
7} 9 x (Gt 4) 7a.
Distributive Property Answer
7b.
H 2% (B+9) S e
Distributive Property Answer
8b.
9) 8 % (2b+ 7) e Oa.
Distributive Property Answer
9b.
10) 2 x (6(&_ 2) 10a.
Distributive Property Answer
10b.
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